TG/ Maths (TRl %919/ Modal Paper) JefenIeT 99| 99 /Fist Year | (SET-A)
) foremed & AR (v') B g ST - 5x1=5
Marks (v) the correct answer in each of the following -
41 _~ o
1. fawmiEm— WW%WHWWWWWW
41
Convert the improper fractions — into mixed fraction is -
: 6 oy L 6
i 37 S (i) 4=
6 e Ik 6" &
(iii) 53 o _ _(137) 67 &y 4
2. ferafeRed # &% o aE wd g - ‘
Which of the following relations is correct -
. d . @
() =70 xad (ii) .= g
Speed = Distance X Time Speed = i;;%
T i 1
(iii) %ﬂE:g“ (iv) qu\frxwa
Speed = D:‘sltr;nece . Speed = Distanc:ax Time
9.3.  {micaRad # 60 1 150% &FT -
In which 150% of 60 is equal to-
(i) 9000 (i) 9
(i) 900 (iv) 90
9.4 TWHWW WQWWHWWQ’TWQW?E—

9.5.

(iii) 12 &, 6 G, 5 G4l

Li

In the foﬂowmg, wh&geﬁﬁgmﬁmsﬂglgh%hépgf sades -
“G) 109, 6 &, 4 G

(i) 6T, 5 T, AT
(iv) 15 &, 8 &4, 7 |t

fermiosRad § @ Rl 91 1 B TR =g | avaed &1 -

In the following, the related of Radius and diameter of any circle is -

e

() Fewm=zxaE -

L (11)” =0

Radius

Radius = 2 X Diameter

Ko S

a Dlameter =

(iii)) =A™= 2 X =14

(iv) S g @]

Diameter = 2 X Radius

None of these
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& fored & | (v) T Fg TR - 5x2=10
Marks (v') the correct answer in each of the following -

9.6, [HSREd H | 5 9021 I GFUE § 9ee- T TH &1 -

In the following, 5 hours convert in seconds to obtain is -

() 15000 @S /Seconds: (ii) - 1800 TEIE /seconds
(iii) 17000 &&HE/Seconds (iv) % &1/ None of these

97. 36 [FSHIE/ 90T F HieY/THUE H I551 T I &80T -

Convert a speed of convert 36 km/h in meeters/speed to obtain is -

(i) 10mps (i) 12 mps

(iii) 14 mps (iv) NOT
. & 7150 1 7% ENTI -
7% of Rs. 7150 is -
(i) ®99/Rs. 400.50 (i) &F/Rs. 500
(iii) ®99/Rs. 500.50 (iv) i 7&l/None of these
9.9, ’Tib_ﬁ el 0T & Tk BRI i T &1 Tl & -
1 Triangles are forms with the help of angles -
(i)  70° 80° 90° (i) 30° 60° 90°
(i) 90°, 120°, 150° (iv) ®TE &1/ None of these
9.10. T I &S IR IR E1aT & FERL: -

The area and circumference of a circle is respectively -

X
[e’a)

(i) 2mr, mr? (ii) mr?, 2mr

(iii) 4mr, mr? (iv) F1E &1 /None of these
ﬁ?ﬁmaﬁ‘@aﬁm O A st XY 10x2-20
Fill in the blanks -~ = - J "‘—“qm\ B S
311, 3,518 + 20 = &3 / Quohent ............. Y / Rem. .............
912, 7.923+18 = GFIBSI/ Quotient ............. 16| /Rem. oo,
9.13. T @ATE! Hl 93 90 fRHT /9021 8, 10 e # e g T3 30 ... ik

The speed of a train is 90 km/h. the distance covered by it in 10 minutes
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914, TS HASAEFE .............

The basic unit of speed is .............
9.15. Fr= % 2iY w g S E wEE

Vertices and sides of a triangle are .............
9.16. NI H SRV EATE ...

Make an angle in semicircle is .............
9.17. 90 F130% B E ...

30% of N is .............
9.18. 200 1 75% BT ...occceeee

75% of 200 is .............
5.19. 2% Sl H A ERT - .

The percentage value fraction 28 = e

4

520, — e HAREET - .o

The percentage value fraction 1) K

100

it hifore - 5x2=10
Matching the following -
9.21. 101 x 100 (@) 16
922, 4%+ 16 (b) 4
9.23. 91 ! S H Gl (c) 10100

Number of sides of square is
9.24. 0.25% ®1HME (d) 90°

The value of 0.25%

N 1

9.25. Tk GHEKIU FH A © 70

The value of one Right Angle
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arA F A TR e 9 / S92 -

Show that the following sentences and T/F -

9.26.

9.27.

9.28.
9.29.

9.30.

Very shor’c types quest:to -

. 5% mifemd TEREW e Y
C ﬁnvpr’r 45% i ’m ha

9.32.

9.33.

5 N 5
6 FRIAME JAGRE 2| / The value of 6 is impossible

o , e S n W . .
YIiRId 1 AL JId &l &d &/ Meaning of %

BRI 3 A 107 6l 9T 190° &1 &

The sum of the Angles of a Triangle is 190°

N oy

D1stance
RIS % 1 STl 1 AT, BRiet & S & Sed &l 2|

The addltlon of 81des of a trlangle are eaual to its Area.

aﬁragaﬂﬁaw- 2

" e p I

000435[57133183?1!817@(@ i

erte 0.004 to percentage.

400 FRAERTH FT 4% FRANERT oo

Write 40% of 400 kg is.

5x2=10
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9.34. 98,657 +~ 1000 T A 1 Hife)
Find the value of 98,657 + 1000

9.35. U I i At 7 @91, &, 9t 99 H1 A9 Fd i

In the radius of a circle is 7cm., then find the diameter of the circle.

&Y IO 59 - 5x3=15
Short types question -

9.36. SIIITHT R Rl TRl FH H fofay -

Arrange the following fractions in descending order -

23 23 23 23 23
51" 7’ 17’ 24’ 18

)

(a)

3% 37 3% 137 537
21’ 19’ 47’ 49’ 3

(b)

...............................................

N\ N o0 [ a1

9.37. G o Ry 1 e Pl | sureaRa it -

Convert the following improper fractions into mixed numbers -

70

(a) = ecveverreveerrereesernersaiiaeccrne ol oo

15

(b) 3 R eveeereeireioaity et

U.38. IS i TRATT T =1 1 A s
Write the definition of speed & the basic unit of speed.
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9.39. ¢ SRyt i AW syord e 3 @, 4 Q.. a9 5 A1 2, | By i aka
FTd it

In three sides of a triangle are 3cm, 4cm & 5cm respectively, then find the

perimeter of a triangle.

9.40. 1%%%5@%1‘1%?@@

3.
Convert 1 £ nto Percentage.

el S0 o9 - 2x10=20

Long type question -

Y41, ST F 9 gl 240 FF 31 FE WSl 36 30 F 99 T H 4 90 SA 2|

IS Fl TS T1d HIT ?

The distance between two station is 240 km. A train take 4 hours to cover this

distance. Calculate the speed of the train ?

942, i G g9 Brean 14 @, &, 3 39 1 A, 9 1 IR 991 99 1 SRS

e (g - =¥)

In the radius of any circle is 14 cm. then find the diameter of circle,

circumference of the circle and area of the circle.
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